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EDUMATE

WEIGHTAGE TO CONTENT/CO

Sample Question Paper - I

No. Content C.O Score Percentage

1. Communication system 2,4 4 7

2. Radio broad casting 6,7,8 11 17

3. Television 13,14,15,16,17 10 17

4. Telephony 19,20 2 3

5. Modern Communication 23,24 2 3

6. Computer Fundamentals 25,26,27,28 4 7

7. Computer I/P, O/P devices & memories 29,30,31,32 9 15

8. Internet 33,34 7 12

9. Audio system 37,38 4 7

10. Biomedical Instruments 41,42,43 3 5

11. Power Supply 45,46,47 4 7

                                               Total 60 100

WEIGHTAGE TO TYPE OF QUESTIONS

No. Type of questions Score Percentage

1 Objective Questions 12 20

2. Short answer 26 43

3. Essay 22 37

Total 60 100
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ELECTRONICS

1. 2,4 Communication system 1(2) 2(1) 4
2. 6 Radio broad casting 1(1) 2(2) 5
3 6,7,8 Radio broad casting 2(1) 4(1) 6

3(2)*
4 13,14 Television 3(1) 3
5 16 Television 4(1) 4

15,16,17*
6 17 Television 1(1) 2(1) 3
7 19,20,41 Telephony, Biomedical Instruments 2(1) 2
8 25,26,27,29,30,31 Computer Fundamentals, 2(2) 4

I/P, O/P devices & memories
9 28 Computer Fundamentals 1(1) 1
10 28,31,33,37 Computer Fundamentals,

I/P, O/P devices & memories, Internet 4(1) 4
11 29,30,31,32 Input, Output devices 2(2) 4
12 32 Input, Output devices 1(2) 2
13 33,34 Internet 2(1) 4(1) 6
14 37,38 Audio & Video Systems 1(1) 3(1) 4
15 41,42,43 Biomedical Instruments 1(1) 2(1) 3
16. 45,46,47 Power Supplies & Voltage Stabilizers 1(1) 2(1) 3
17. 23,24 Modern communication 1(2) 2
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BLUE PRINT OF QUESTION PAPER
Std XII - ELECTRONICS

Type of Question

* indicates choice
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EDUMATE

1

a Can you give one example each for low frequency (LF), Medium frequency (MF), High
frequency and very high frequency (VHF) (1)

b You have the three modes of propagation for radio broad casting. Which among them can
be used for television broad casting? (1)

c Why can’t we use the other two for TV broad casting? (2)

F. tem {^oIz≥kn, aoUnbw {^oIz≥kn, ssl {^oIz≥kn, shcnssl {^oIz≥kn Chbv°v

Hmtcm DZm-l-c-W-ßƒ hoXw Fgp-Xp-I.

_n. {Ku≠v thhv, kvssIth-hv, kvt]kv thhv F∂o t{]m]-tK-j≥ coXn-Iƒ Xm¶ƒ°-dn-

bp-a-t√m. CXn¬ GXv coXn-bmhpw sSen-hn-j≥ kwt{]-£-W-Øn\v A\p-tbmPyw?

kn. a‰v c≠v coXn-Ifpw Sn. hn kwt{]-£--W-Øn\v D]-tbm--Kn-°m-ØXv F¥p-sIm≠v?

2

a. The length of transmitting antenna should be comparable with ........ of the signal to be
transmitted. (1)

(i)  λ (ii)  
2
λ

(iii)  2λ (iv) 
4
λ

b Can you suggest the length of antenna required to transmit a 5 kHz voice signal as it is?
(2)

c You know that it is not possible to have an antenna of such a length. Then how will you
transmit the signal? (2)

F. kwt{]-£-W-Øn-\p-]-tbm-Kn-°p∂ B‚n-\-bpsS \ofw kn·-ens‚ .............. \v B\p-]m-

Xn-Iambn-cn-°-Ww.

(i)  λ (ii)  
2
λ

(iii)  2λ (iv) 
4
λ

_n. Hcp 5 kHz Ahr-Øn-bp≈ i_vZ-X-cwKw AtX-]Sn kwt{]-£Ww sNøm-\-h-iy-amb

B‚n-\-bpsS \ofw Xm¶ƒ°v \n¿t±-in-°mtam?

kn. A{Xbpw \of-ap≈ B‚n\ km[ya√t√m? At∏mƒ ]ns∂ kn·-ep-Iƒ kwt{]-£Ww

sNøm≥ F¥mWv hgn?

3. Go through the AM envelop given below. Analyse it and obtain the following.

i. depth of modulation (2)

ii. plot of the carrier and modulating signal wave forms. (4)

Xmsg sImSp-Øn-cn-°p∂ Bwπn-‰yqUv tamUp-te‰v sNø-s∏´ F≥h-e∏v A]-{K-Yn®v Xmsg ]d-

bp-∂h I≠p]n-Sn-°p-I.

(1) tamUp-te-js‚ Bgw

(2) Imcn-b¬ kn·¬, tamUp-te-‰nwKv kn·¬ Ch-bpsS {Km^p-Iƒ

Model Question Paper - I
ELECTRONICS Score : 60

Time : 2 hrs
Class - XII
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ELECTRONICS

OR

A carrier wave represented by ec = 6 sin100t is modulated by a useful signal em = 4 sint then.

a. Find out the fundamental frequency contained in the AM wave, the upper side band and
lower side band frequencies.

b. Draw the frequency spectrum of AM wave indicating all amplitudes, frequencies and the
band with. (3)

e
c
 = 6 sin100 t F∂p kqNn-∏n-®ncn°p∂ Hcp Imcn-b¿ thhns\  e

m
 = 4 sin t F∂ kn·¬ D]-

tbm-Kn®v Bwπn-‰yqUv tamUp-te‰v sNøp-I-bm-sW-¶n¬.

F. AM thhn¬ AS-ßn-bn-cn-°p∂ ASn-ÿm\ {^oIz≥kn, temh¿ sskUv _m‚ v, A∏¿

sskUv _m‚ v Ch I≠p]n-Sn-°p-I.

_n. AM thhns‚ {^oIz≥kn kvs]Iv{Sw hc®v AXn¬ F√m Bwπn-‰yq-Up-Ifpw {^oIz≥kn-

Ifpw _m‚ v hnUvØpw AS-bm-f-s∏-Sp-Øp-I.

4 You know that slow scanning rate affects TV signal transmission and reception. What are the
bad effects? Suggest methods to overcome these effects. (3)

Ipd™ kvIm\nwKv \nc°v sSen-hn-j≥ {]t£-]-W-tØbpw kzoI-c-W-tØbpw _m[n-°p-

sa∂v Xm¶ƒ°v Adn-bm-at√m? AXv ]cn-l-cn-°m≥ Fs¥√mw am¿K-ßfmWv \mw kzoI-cn-

t°-≠Xv?

5 Give your opinion on the particular structure used for yagi-uda antenna. (4)

bmKn DZm B‚n-\-bpsS {]tXyI LS-\-sb-°p-dn-®pff Xm¶-fpsS A`n-{]m-b-ßƒ tcJ-s∏-Sp-

Øp-I.

OR

Draw a neat block diagram of monochromatic television receiver and write the functions of
blocks in one sentence each.

Hcp tamtWm-s{Im-am-‰nIv sSen-hn-j≥ dnko-h-dns‚ tªm°v Ub{Kw hrØn-bmbn hc®v AXnse

tªm°p-I-fpsS [¿Ωw Hmtcm hmN-I-Øn¬ hoXw Fgp-Xp-I.

6. a. Suppose you are a cable TV operator. Which among the following medium will you select
to provide more than 50 channels to your customers. (1)

i) twin lead wire

ii) coaxial cable

b. Justify your answer (2)
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EDUMATE

F. Xm¶ƒ Hcp tI_nƒ Sn.hn Hm∏-td-‰-dm-sW-∂n-cn-°-s´. Hcp 50 Nm\-ep-Iƒ°p-ap-I-fn¬

D]-t`m-‡m-°ƒ°v \¬I-W-sa-¶n¬ GXv aoUn-b-amWv Xm¶ƒ D]-tbm-Kn-°p-I.

i) twin lead wire

ii) coaxial cable

_n. Xm¶-fpsS DØcw \oXo-I-cn-°p-I.

7. Arrange the following in the correct order (2)

Xmsg sImSp-Øn-cn-°p∂ ]´nI icn-bmb {Ia-Øn¬ B°p-I.

PSTN single processor Electrodes

Centralised SPC scalp very high band width

Distributed SPC inter toll trunks very powerful processor

EEG uses low cost processors Functions are performed by many
computers.

8

a. Suppose your teacher organised a field visit for you to observe various applications of
computers in different fields.  Classify the applications you observed. (2)

b. The computer you use at home and that situated at the nearby railway station are not similar.
Give your comments. (2)

F. hnhn[ taJ-e-I-fn¬ D]-tbm-Kn-°p∂ hnhn-[-Xcw Iºyq-́ -dp-Iƒ a\-kn-em--°p-hm-\mbn Xm¶-

fpsS  So®¿ Hcp ^o¬Uv hnkn‰v kwLSn-∏n-°p-∂p. Cu hnkn-‰n¬ ]s¶-SpØv Xm¶ƒ

\nco-£n® hnhn[-Xcw Iºyq-´-dp-I-fpsS D]-tbm-K-ßƒ Xcw-Xn-cn®v hni-Zo-I-cn-°p-I.

_n.Xm¶ƒ ho´n¬ D]--tbm-Kn-°p∂ t]gvk-W¬ Iºyq-´dpw ho´n-\-Sp--Øp≈ sdbn¬th-- tÃj-

\n¬ h®n-cn-°p∂ Iºyq-́ dpw Hcp-t]m-se-bp≈-h-b-√. hni-Z-amb A`n-{]mbw tcJ-s∏SpØpI.

9. Select a 32 bit microprocessor

Hcp 32 bit ssat{Im t{]mk- ¿ Xnc-s™-Sp-°p-I.

i) Intel 80186

ii) Intel 80286

iii) Intel pentium IV

iv) Motorola’s MC 68000 (1)

10 If the elements of the set A = {science, electronics, electrons}, can be related to form meaningful
sentence as 'Electronics is a branch of science which deals with the controlled flow of electrons",
then similarly form such sets from the following table by arbitrarily selecting one word from
each column and frame meaningful sentences.

A = {kb≥kv, Ce-Ivt{Sm-Wn-Ivkv, Ce-Ivt{Sm¨kv} F∂ KW-ap-]-tbm-Kn®v A¿∞-h-Ømb

Hcp hmNIw Cßs\ cq]-s∏-Sp-Ømw. ""Ce-Ivt{Sm-Wp-I-fpsS \nb-{¥n-°-s∏´ {]hm-l-sØ-°p-

dn®p ]Tn-°p∂ imkv{X-im-J-bmWv Ce-Ivt{Sm-WnIvkv'' CXp-t]mse Xmsg ImWp∂ ]´n-I-

bnse Hmtcm tImf-Øn¬ \n∂v Hmtcm-∂p-hoXw FSpØv aq∂w-K-ß-fp≈ KW-ß-fp-≠m°n

A¿∞-h-Ømb hmN-I-ßƒ cq]o-I-cn-°p-I.
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ELECTRONICS

Microprocessor Microphone Modem

WAN RAM Electromagnetic induction

Transducer Intel 80186 Semiconductor

Main memory Internet VLSI technology (4)

11. a. You have the following components of a computer. Categorise them into input, output and
memory devices.

F. ChnsS sImSp-Øn-cn-°p-∂Xv Hcp Iºyq-´-dns‚ hnhn[ `mK-ß-fm-Wv. Chsb hnhn[ taJ-

e-I-fn¬ Xcw-Xn-cn-°p-I.

Monitor, Printer, Keyboard, CD- ROM, joystick, Mouse, Hard disk, RAM (2)

b. Suppose as instructed by your teacher, all the students prepared their seminar reports using
computer print out. Your copy was of poor quality and your friend got a better quality print
out from some other printer. But he was to spend more money. Compare the two printing
technologies. (2)

_n. So®¿ \n¿t±-in-°p-∂-X-\p-k-cn®v ¢mknse Ip´n-I-sf√mw Ah-c-h-cpsS skan-\m¿ dnt∏m¿´p-

Iƒ Iºyq-´¿ {]n‚ v Bbn FSp-°p-∂p. CXn¬ kplr-Øns‚ tIm∏n-sb-°mƒ Xm¶fpsS

tIm∏n KpW-\n-e-hm-c-ap-≈Xpw F∂m¬ hne IqSp-Xepw Bbn-cp-∂p. Cu c≠v {]n‚nwKv

kmt¶-XnI hnZy-Ifpw Xmc-Xayw sNøp-I.

12. a. While working with your personal computer if the power supply failed unexpectedly will it
affect the currently entered data? Justify your answer. (1)

b. Give examples for read only memory that can be programmed. (1)

Xm¶-fpsS t]gvk-W¬ Iºyq--´¿ D]--tbm-Kn-®p-sIm-≠n-cn-°p∂ kabw ]h¿ kssπ t]mbn

F∂n-cn-°-s´.

F. CXv sXm´vapºv tÃm¿ sNbvX hnh-c-ßsf _m[n-°ptam? Xm¶-fpsS A`n-{]mbw \oXo-

I-cn-°p-I.

_n. t{]m{Kmw sNøm≥ Ign-bp∂ doUv H¨en saΩdn°v DZm-l-c-W-ßƒ Fgp-Xp-I.

13 a. It is possible that using any of the computerised railway reservation counters, you can reserve
you tickets from any station to any other station. Discuss the process in relation to networking.

(2)

b. Suppose you want to send e-mail to your friend in USA. You have your own PC. Then
what else you need? Explain the process of data transmission behind this using an illustrative
diagram. (4)

F. sdbn¬th-Ã-j-\p-Iƒ Iºyq-´¿ hXvI-cn-®n-cn-°p-∂-Xn-\m¬ GXp tÃj≥ D]-tbm-K-s∏-

Sp-Ønbpw Hcp tÃj-\n¬ \n∂pw as‰mcp tÃj-\n-te°p Sn°‰v dnk¿hv sNøm-hp-∂-Xm-

Wv.

Iºyq-´¿ irwJ-e-I-fpsS shfn-®-Øn¬ CXn-\p-]n-∂n-ep≈ {]{Inb hni-Z-am-°p-I.

_n. Ata-cn-°-bn-ep≈ Xm¶-fpsS Hcp kplr-Øn\v Hcp C˛-sa-bn¬ Ab-°-W-sa-∂n-cn-°-s´.

kz¥-ambn Hcp t]gvk-W¬ Iºyq-´-dp≈ Xm¶ƒ°v as‰-s¥√mw Bh-iy-amWv? Hcp

Ub{Kw D]-tbm-K-s∏-SpØn CXn\p ]n∂n-ep≈ Um‰m {Sm≥kvan-j≥ {]{Inb hni-Zo-I-

cn-°p-I.
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EDUMATE

14. Your principal asks you to setup a device so that he can convey messages to a big gathering.

a. What will you do? (1)

b. List the constituent parts required to make such a device and arrange them in the correct
order so as to form a block diagram. (3)

Xm¶-fpsS kvIqƒ {]n≥kn-∏m-fn\v Hcp Iq´w hnZym¿∞n-Isf A`n-ap-Jo-I-cn®v kwkm-cn-°p-∂-

Xn-\mbn Hcp D]-I-cWw \n¿Ωn®p \¬Im-\mbn Xm¶sf kao-]n-°p-∂p.

F. Xm¶ƒ F¥p sNøpw?

_n. CXn-\m-bp≈ ̀ mK-ßƒ enÃv sNøp-I. bYm¿∞- Hm¿U-dn¬ {Iao-I-cn-®v CXv Hcp tªm°v

Ub-{K-am-°p-I.

15. a. Name two biomedical instruments you have seen while visiting a hospital. (1)

b. Suppose you accompanied your relative who was going to a hospital suspecting disease.
The doctor advises to take ECG. After doing so you got a pattern of ECG. Being an electronics
student, can you explain and how the disease can be diagnosed? (2)

F. Hcp Bip-]{Xn kµ¿in-®-t∏mƒ Xm¶ƒ ImWm-\n-S-bmb c≠v _tbm-sa-Un-°¬ D]-I-

c-W-ß-fpsS t]cv ]d-bmtam?

_n. Xm¶-fpsS Hcp _‘p-hn\v Akp-J-ambn Bip-]-{Xn-bn¬ t]mIp-tºmƒ Xm¶-fmWv klm-

bn-bm-bXv F∂p Icp-Xp-I. tUmIvS¿ C.kn.Pn FSp-°p-hm≥ D]-tZ-in-°p-∂p. Aßs\

C.kn.Pn˛bpsS ]mt‰¨ e`n-°p-∂p. Cu ]mt‰¨ D]-tbm--Kn®v tcmK-\n¿Wbw Fßs\

km[y-am-Ip-∂p-sh∂v hni-Zo-I-cn-°mtam?

16 a. Unregulated dc power supply is not in need of

a) Diode

b) Transformer,

c) Zener diode

d) filter (1)

b. Zener diode can be used to make a dc power supply which maintains, constant voltage
irrespective of the fluctuations in the input supply. Comment on this. (2)

F. km[m-cW Un.kn ]h¿ kssπ°v th≠m-ØXv (1) Utbm-Uv, (2) {Sm≥kvt^m¿a¿, (3)

sk\¿ UtbmUv (4) ^n¬‰¿.

_n. C≥]p v́ sshZyp-Xn-bpsS hyXn-\m-bsØ adn-I-S∂v ÿnc-amb thmƒt´Pv \¬Ip∂ Un.kn

]h¿ kssπ \n¿an-°m≥ sk\¿ UtbUv D]-tbm-Kn-°mw. CXn-s\-°p-dn®v Xm¶-fpsS

A`n-{]mbw tcJs∏-Sp-Øp-I.

17. You may have noticed that the conventional telephone cables are being replaced by optical fibre
cable.

(i) Why is it necessary? (1)

(ii) Give the principle behind optical fibre cables. (1)

]c-º-cm-K-X-ambn D]--tbm-Kn-®p-sIm-≠n-cn-°p∂ sSen-t^m¨ tI_n-fp-Iƒ°v ]Icw Hm]v‰n-°¬

ss^_-dp-Iƒ CSp∂Xv Xm¶ƒ {i≤n-®p-Im-Wp-at√m?

F. F¥m-Wn-Xns‚ Bh-iy-IX?

_n. Hm]v‰n-°¬ ss^_¿ tI_n-fp-I-fpsS {]h¿Ø\ XXzw hni-Z-am-°p-I.
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ELECTRONICS

1 CO - 2, 4
a. LF = 30 300 kHz,  MF = 300 - 3000 kHz 1

HF = 3 - 30 MHz, VHF = 30 - 300 mHz (4 x ¼)
b. Space wave 1
c. Ground wave - cannot be used for long distance communication 1

Sky wave - it penetrates the ionosphere 1 8

2 CO - 6

a.
4
λ

1

b. λ  = 
3

8

105

103
f

c

×

×
=  = 60000m (1) 2

length of antenna = 4
60000

4
=

λ
= 15000m (1)

c. By modulating a HF carrier (1)
Required length of antenna will get reduced (1) 2 10

3. CO - 6,7,8
(i)

%100
Ec
Em

m ×= (1)

 %100
minEmaxE
minEmaxE

m ×
+
−

=

Substitute values and get the answer (1) 2 4
(ii)

Plot of carrier (2)
Plot of modulating wave (2) 4 8

OR
a. 2 π fc = 100, fc = answer (1)

Upper side band = fc + fm = answer (1)
(Find fm from 2 π fm = 1)
Lower side band = fc - fm = answer (1) 3

b. Band width = 2fm = answer
or Band width = USB - LSB = Answer (½)
Carrier amplitude (Vc) = Answer (½)

ELECTRONICS

SCORING KEY OF MODEL QUESTION PAPER - I

No. Scoring indicators Score      Time

Standard-  XI Score 60

Time- 2hrs
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SCORING KEY

No. Scoring Indicators Score      Time

Side band amplitude 







2

mVc
= Answer (½)

Marked Spectrum (1½) 3

4. CO. 13, 14
Flicker, High BW requirement (1)
Interlaced scanning & explanation (2) 3 6

5. CO. 16
Marked figure of antenna (1)
Function of dipole (1)
Function of directors (1)
Function of reflector (1) 4 8

OR
Marked block diagram (2)
Functions of blocks (2) 4

6. CO  17
a. Coaxial cable 1
b. Twinlead - VHF, Coadial - up to 19 MHz 2 6

7. CO 19, 20, 41
PSTN- Inter toll trunks- very high band width (½)
Centralised SPC- Single processor- very powerful processor (½)
Distributed SPC- Uses low cost processor- Function are performed
by many computers (½)
EEG - Scalp - Electrodes (½) 2 4

8 CO 25, 26, 27, 29, 30, 31
a. Applications- Commercial, medical, industrial 2

Communication, military, Education, (any four)
b) Differences between personal computer and main frame computers

(any two) 2 8

9 CO 28
Intel pentium IV 1 2

10 CO 28, 33, 31, 37
Formation of set with related elements such as
{Microprocessor, Intel 80186, VLSI technology) (½)
Formation of any possible meaningful sentence using the above
set such as
Inter 80186 is a microprocessor which uses VLSI technology (½)
(½ x 4 + ½x4) 4 8
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ELECTRONICS

SCORING KEY

No. Scoring Indicators Score      Time

11. CO  29, 30, 31, 32
a. Categorisation as input, output and memory devices 2
b. Comparison of any two printing technology 2 8

12 CO 32
a. RAM is a volatile memory 1 4
b. PROM, EPROM, EEPROM, UV PROM (any two) 1 4

13. CO 33, 34
a) WAN (1)

Wide Area Networking in detail (1) 2
b) Modern- principle, analog data transmission

through telephone line (2) 4 12

14 CO  37, 38
a. Public address system 1
b. Microphone, mixer, amplifier, loud speaker 2

Block diagram 3 8

15. CO 41, 42, 43
a. Names 1
b. Diagram & Any two variations of abnormality from the normal

Stage 2 6

16. CO 45, 46, 47
a. Zener diode 1
b. Connection diagram (1)

Zener action (1) 2 6

17. CO  23, 24
i. High Band Width 1
ii. Principle 1 4

Total 60 120


